
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th  Month, 4th Week, 3rd Day Syllabus: Unit 4: Review Exercise Q No. 7, 8, 9

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

(i) 6.8 @@@@ 4 = ________.

(a) 1.7 (b) 1.8 (c) 1.6 (d) 1.9

(ii) 4.8 @@@@ 6 = ________.

(a) 0.6 (b) 0.7 (c) 0.8 (d) 0.9

(iii) When we round off 3439 to nearest 10, we get:

ÃÃÃÃŒŒŒŒÛÛÛÛRRRRŠŠŠŠkkkkJJJJ----öööözzzzŠŠŠŠ™™™™,,,,ÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 3429 ZZZZ####ëëëë

(a) 3430 (b) 3428 (c) 3427 (d) 3425

(iv) When we round off 1009 to nearest 1000, we get:

JJJJ----öööözzzzŠŠŠŠ™™™™,,,,ÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 1000 ÃÃÃÃŒŒŒŒÛÛÛÛRRRR 1009 ZZZZ####ëëëë

(a) 1000 (b) 1090 (c) 2000 (d) 1900

(v) When we round off 4.17 to nearest whole number, we get:

ÃÃÃÃŒŒŒŒÛÛÛÛRRRRåååå°°°°ŠŠŠŠJJJJ----öööözzzzŠŠŠŠ™™™™,,,,ÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 4.17 ZZZZ####ëëëë

(a) 4 (b) 5 (c) 6 (d) 8

Q.No.1.   Solve: (2) ::::iiii™™™™,,,,:::: 1 ÎÎÎÎZZZZwwww����

8.1  @@@@  9 

Q.No.2.   Round off the nearest whole number. (3)

::::ŒŒŒŒÛÛÛÛRRRRåååå°°°°ŠŠŠŠJJJJ----öööözzzzŠŠŠŠ™™™™,,,,:::: 2 ÎÎÎÎZZZZwwww����

(i)     0.98           (ii)     41.41

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
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